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 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 16 h¢ & 
 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 

{bI| & 
 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >36 àíZ h¢ & 
 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 
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_| 10.15 ~Oo {H$`m OmEJm &  10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo 
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 Please check that this question paper contains 16 printed pages. 

 Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 36 questions. 

 Please write down the Serial Number of the question before 

attempting it. 

 15 minute time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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gm_mÝ` {ZX}e : 
(i) Bg àíZ-nÌ H$mo Xmo ^mJm|, ^mJ A Am¡a ^mJ ~ _| ~m±Q>m J`m h¡ & AmnH$mo XmoZm| ^mJm| 

Ho$ àíZm| Ho$ CÎma {bIZo h¢ & 
(ii) g^r àíZ A{Zdm`© h¢ & 
(iii) nyao àíZ-nÌ _| {H$gr àíZ _| H$moB© M`Z àmßV Zht h¡ & 
(iv) AmnH$mo ^mJ A Am¡a ^mJ ~ Ho$ g^r àíZm| Ho$ CÎma n¥WH²$-n¥WH²$ {bIZo h¢ & 
(v) ^mJ A Ho$ àíZ g§»`m 1 go 3 Ho$ àíZ EH$ A§H$ Ho$ h¢ & BZHo$ CÎma EH$ eãX AWdm 

EH$ dmŠ` _| X| &  
(vi) ^mJ A Ho$ àíZ g§»`m 4 go 6 Ho$ àíZ Xmo A§H$m| Ho$ h¢ & BZHo$ CÎma bJ^J 30 eãXm| 

_| X| &  
(vii) ^mJ A Ho$ àíZ g§»`m 7 go 18 Ho$ àíZ VrZ A§H$m| Ho$ h¢ &  BZHo$ CÎma bJ^J  

50 eãXm| _| X| & 
(viii) ^mJ A Ho$ àíZ g§»`m 19 go 24 Ho$ àíZ nm±M A§H$m| Ho$ h¢ & BZHo$ CÎma bJ^J  

70 eãXm| _| X| & 
(ix) ^mJ ~ Ho$ àíZ g§»`m 25 go 33 Ho$ àíZ à`moJmË_H$ H$m¡eb na AmYm[aV ~hþ{dH$ënr 

àíZ h¢ & àË`oH$ àíZ EH$ A§H$ H$m h¡ & {XE JE Mma {dH$ënm| _| go AmnH$mo Ho$db EH$ 
g~go Cn`wº$ {dH$ën MwZZm h¡ & 

(x) ^mJ ~ Ho$ àíZ g§»`m 34 go 36 Ho$ àíZ à`moJmË_H$ H$m¡eb na AmYm[aV Xmo A§H$m| Ho$ 
àíZ h¢ & BZHo$ CÎma g§{já _| XoZo h¢ & 

General Instructions : 

(i) The question paper comprises two Sections, A and B. You are to 

attempt both the sections. 

(ii) All questions are compulsory. 

(iii) There is no choice in any of the questions.  

(iv) All questions of Section A and all questions of Section B are to be 

attempted separately. 

(v) Question numbers 1 to 3 in Section A are one mark questions. 

These are to be answered in one word or in one sentence. 

(vi) Question numbers 4 to 6 in Section A are two marks questions. 

These are to be answered in about 30 words  each. 

(vii) Question numbers 7 to 18 in Section A are three marks questions. 

These are to be answered in about 50 words  each. 
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(viii) Question numbers 19 to 24 in Section A are five marks questions. 

These are to be answered in about 70 words  each. 

(ix) Question numbers 25 to 33 in Section B are multiple choice 

questions based on practical skills. Each question is a one mark 

question. You are to select only one most appropriate response out of 

the four provided to you. 

(x) Question numbers 34 to 36 in Section B are two marks questions 

based on practical skills. These are to be answered in brief. 

 

^mJ A 
SECTION A 

1. Cg EoëHo$Z H$m Zm_ Am¡a gyÌ {b{IE {Og_| VrZ H$m~©Z na_mUw hmoVo h¢ & 1 
Write the name and formula of the alkane having three carbon 

atoms. 

2. _mZdm| _| d¥fUm| Ho$ Xmo H$m`m|ª H$s gyMr ~ZmBE & 1 
List two functions of testes in human beings. 

3. ZrMo Xr JB© Amhma ûm¥§Ibm _| _mZd H$mo 12·5 J D$Om© CnbãY h¡ & nmXnm| Zo 
àH$me go {H$VZr D$Om© àmá H$s Wr ?  1 

 nmXn  ^o‹S>  _mZd  

12·5 J of energy is available to man in the food chain given 

below. How much of energy did the plants receive from the 

light ? 

 Plants  Sheep  Man  

4. g_Vb Xn©U H$s \$moH$g Xÿar {b{IE & g_Vb, AdVb AWdm CÎmb Xn©Um| _| go 
{H$gH$m Ñí` joÌ A{YH$ hmoVm h¡ Am¡a Bg àH$ma Ho$ Xn©U H$m Cn`moJ H$hm± {H$`m 
OmVm h¡ ?  2 
Write the focal length of a plane mirror. Which one out of 

plane, concave or convex mirrors has a larger field of view and 

where is such a mirror put to use ?  
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5. Ob H$mo ^m¡_-Ob Ho$ ê$n _| g§a{jV H$aZo Ho$ {H$Ýht Mma bm^m| H$s gyMr ~ZmBE & 2 
List any four advantages of conserving water in the form of 

ground water.  

6. {MnH$mo AmÝXmobZ Zo {H$g àH$ma ñWmZr` bmoJm| Am¡a n`m©daU H$mo bm^mpÝdV 
{H$`m ? Bg AmÝXmobZ H$mo `h Zm_ Š`m| {X`m J`m ?  2 
How did Chipko Andolan benefit the local people and the 

environment ? Why is this andolan named so ?  

7. {H$gr naIZbr, {Og_| AUwgyÌ C2H6O H$m H$moB© H$m~©Z `m¡{JH$ ‘X’ ^am h¡, _| 
gmo{S>`_ YmVw H$m EH$ N>moQ>m Qw>H$‹S>m S>mbZo na Vrd« ~wX~wXmhQ> Ho$ gmW H$moB© J¡g 
‘Y’ {ZH$bVr {XImB© Xr & naIZbr Ho$ _wI na ObVr hþB© Vrbr bmZo na `h J¡g 

‘nm°n’ Üd{Z Ho$ gmW Obr &  ‘X’ Am¡a ‘Y’ H$mo nhMm{ZE VWm hmoZo dmbr A{^{H«$`m 
H$m amgm`{ZH$ g_rH$aU {b{IE & `m¡{JH$ ‘X’ H$mo Am{YŠ` gm§Ð H2SO4 Ho$ 
gmW 443 K na J_© H$aZo na ~ZZo dmbo CËnmX H$m Zm_ Am¡a CgH$s g§aMZm 
{b{IE & 3 
When a small piece of sodium is dropped in a test-tube 

containing a carbon compound ‘X’ of molecular formula C2H6O, 

a brisk effervescence is observed and a gas ‘Y’ is produced. On 

bringing a burning splinter at the mouth of the test-tube, this 

gas burnt with a ‘pop’ sound. Identify ‘X’ and ‘Y’. Give the 

chemical equation for the reaction. Write the name and 

structure of the product formed when the compound ‘X’ is 

heated at 443 K with excess conc. H2SO4.       

8. O~ EWoZm°b gm§Ð H2SO4 H$s CnpñW{V _| EWoZm°BH$ Aåb go A{^{H«$`m H$aVm 
h¡, Vmo _¥Xþ (\$b-O¡gr) J§Y H$m H$moB© CËnmX ~ZVm h¡ &  

(a) _¥Xþ J§Y dmbo BZ H$m~©Z `m¡{JH$m| Ho$ Cg dJ© H$m Zm_ {b{IE {Og_| BZH$mo 
dJuH¥$V {H$`m OmVm h¡ &   

(b) Bg A{^{H«$`m H$m amgm`{ZH$ g_rH$aU {b{IE &  

(c) Bg A{^{H«$`m _| ~ZZo dmbo CËnmX H$m gm_mÝ` Zm_ {b{IE &  

(d) Š`m hmoVm h¡ O~ `h CËnmX gmo{S>`_ hmBS´>m°ŠgmBS> go A{^{H«$`m H$aVm  
h¡ ? Bg A{^{H«$`m H$m gm_mÝ` Zm_ {b{IE &  3 
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When ethanol reacts with ethanoic acid in the presence of  

conc. H2SO4, a compound with fruity smell is produced. 

(a) Name the class of carbon compounds into which these 

fruity smelling compounds are classified.  

(b) Write the chemical equation for the reaction.  

(c) Write the common name of the product formed in the 

reaction.  

(d) What happens when this product reacts with sodium 

hydroxide ? Write the common name of this reaction.  

9. na_mUw g§»`m 17 Ho$ {H$gr VÎd H$m CXmhaU boVo hþE ì`m»`m H$s{OE {H$  
(i) {H$gr VÎd Ho$ na_mUw Ho$ BboŠQ´>m°{ZH$ {dÝ`mg Ho$ AmYma na AmYw{ZH$ AmdV© 
gmaUr _| CgH$s pñW{V {H$g àH$ma kmV H$s OmVr h¡, VWm (ii) BgHo$ na_mUw 
g§»`m Ho$ AmYma na {H$gr VÎd H$s g§`moOH$Vm {H$g àH$ma {ZYm©[aV H$s OmVr  
h¡ &    3 
Taking the example of an element of atomic number 17, 

explain (i) how the electronic configuration of the atom of an 

element relates to its position in the Modern Periodic Table, 

and (ii) how the valency of an element is determined on the 

basis of its atomic number.  

10. H$moB© VÎd ‘X’ AmYw{ZH$ AmdV© gmaUr Ho$ nhbo g_yh Am¡a Vrgao AmdV© _| pñWV 
h¡ &  ‘X’ go gå~pÝYV {ZåZ{b{IV àíZm| H$m H$maU g{hV CÎma Xr{OE : 3 

(a) Bg VÎd H$s na_mUw g§»`m {b{IE &   
(b) Š`m `h VÎd YmVw h¡ AWdm AYmVw ?  
(c) ‘X’ H$s ‘Y’ (na_mUw g§»`m 16) go A{^{H«$`m Ûmam ~Zo `m¡{JH$ H$m gyÌ 

{b{IE &  
An element ‘X’ belongs to the first group and third period of 
the Modern Periodic Table. Answer giving reason, the 
following questions related to ‘X’: 

(a) Write its atomic number.  

(b) Is it a metal or a non-metal ?   

(c) Write the formula of the compound formed when ‘X’ 

reacts with ‘Y’ (atomic number 16). 
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11. OZZ Š`m h¡ ? ñnrerµO H$s g_pîQ> H$mo ñWm{`Ëd àXmZ H$aZo _| OZZ {H$g àH$ma 
ghm`Vm H$aVm h¡ ? 3 
What is reproduction ? How does reproduction help in 
providing stability to the population of species ?     

12. OZZ Ho$ g§X^© _| {dIÊS>Z Am¡a IÊS>Z Ho$ ~rM Xmo AÝVam| H$m CëboI H$s{OE & 
àË`oH$ H$m EH$-EH$ CXmhaU ^r Xr{OE &  3 
State two differences between fission and fragmentation with 
respect to reproduction. Give one example of each. 

13. H$m{`H$ àdY©Z Š`m h¡ ? BgHo$ Xmo bm^m| H$s gyMr ~ZmBE &  3 
What is vegetative propagation ? List its two advantages.  

14. Ordmí_ {H$g àH$ma ~ZVo h¢ ? Ordmí_m| H$s Am`w {ZYm©[aV H$aZo H$s Xmo {d{Y`m| 
H$s gyMr ~ZmBE & Ordmí_m| Ho$ AÜ``Z Ho$ _hÎd H$m CëboI H$s{OE & 3 
How are fossils formed ? List two methods of determining the 

age of fossils. Mention the importance of study of fossils.    

15. _|S>b Zo à`moJm| Ûmam `h {H$g àH$ma Xem©`m {H$ Xmo bjUm| H$m d§emZwJV hmoZm  
EH$-Xÿgao go ñdV§Ì h¡ ? 3 
How does Mendel’s experiment show that the inheritance of 

two characteristics is independent of each other ?  

16. {H$gr Xn©U Ûmam ~Zo {~å~ Ho$ à{V{~å~ H$m AmdY©Z 1 h¡ & Bg gyMZm go 
gå~pÝYV {ZåZ{b{IV àË`oH$ àíZ H$m H$maU g{hV CÎma Xr{OE :  3 
(a) Bg Xn©U H$s àH¥${V {b{IE &   
(b) `{X à{V{~å~ H$s Xn©U go Xÿar 40 cm h¡, Vmo {~å~ H$hm± pñWV h¡ ?  
(c) `{X {~å~ H$mo Xn©U H$s Amoa 10 cm ñWmZmÝV[aV H$a {X`m OmE, Vmo 

à{V{~å~ H$hm± ~ZoJm ?  
The image of an object formed by a mirror is of magnification  

1. Answer the following questions related to this information 

giving reason for each :  

(a) State the nature of the mirror.   

(b) If the image is at a distance of 40 cm from the mirror, 

where is the object placed ?   

(c) Where would the image be formed, if the object is moved 

10 cm towards the mirror ?   
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17. ñdÀN> AmH$me Zrbm Am¡a gy`© Ho$ AñV hmoVo g_` dh aº$m^ Š`m| àVrV hmoVm  
h¡ ? ì`m»`m H$s{OE &  3 

Why does the clear sky appear blue and the Sun appear 

reddish at the time when it is setting ? Explain.      

18. AmnHo$ {dÚmb` Ho$ ‘BH$mo Šb~’ Ho$ {ejH$ Zo àYmZmMm`© _hmoX` go `h {ZdoXZ 
{H$`m {H$ do {dÚmb` H$s H¡$ÝQ>rZ Ho$ {ZH$Q> Xmo {d{^Þ a§Jm|, hao Am¡a Zrbo a§J, H$s 
Hy$‹S>m-no{Q>`m± aIdm X| & BZ_| go hao a§J H$s Hy$‹S>m-noQ>r H¡$ÝQ>rZ Ho$ O¡d{ZåZrH$aUr` 
An{eîQ>m| VWm Zrbo a§J H$s Hy$‹S>m-noQ>r AO¡d{ZåZrH$aUr` An{eîQ>m|o Ho$ {bE hmo & 

(a) Hw$N> dñVwAm| (_Xm|) H$mo O¡d{ZåZrH$aUr` dJ© _| Š`m| dJuH¥$V {H$`m OmVm 
h¡ ?   

(b) H¡$ÝQ>rZ _| ImH$a N>mÌm| Ûmam \|$Ho$ OmZo dmbo An{eîQ>m| _| go EH$ 
O¡d{ZåZrH$aUr` Am¡a EH$ AO¡d{ZåZrH$aUr` An{eîQ> H$s gyMr ~ZmBE &  

(c) Eogo H$moB© Xmo gwPmd Xr{OE {OZHo$ Ûmam Amn AO¡d{ZåZrH$aUr` An{eîQ>m| 
H$mo H$_-go-H$_ H$a gH$Vo h¢ &    1+1+1 

 

Your ‘eco club’ teacher requested the school principal to get two 

different coloured, green and blue, dustbins to be installed 

near the school canteen. The green coloured dustbin for 

biodegradable wastes and the blue coloured dustbin for  

non-biodegradable wastes from the canteen. 

(a) Why are certain items categorised as biodegradable ? 

(b) List one biodegradable waste and one non-biodegradable 

waste that students throw after eating in the canteen.  

(c) Suggest any two ways by which you can minimize the 

non-biodegradable wastes.       
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19. gm~wZ VWm An_mO©H$m| Ho$ AUwAm| Ho$ ~rM AÝVa {b{IE & gm~wZm| H$s g\$mB© 
à{H«$`m H$m dU©Z H$s{OE & gm~wZ H$R>moa Ob Ho$ gmW PmJ Zht ~ZmVo & Š`m| ? 

An_mO©H$m| Ho$ Am{YŠ` Cn`moJ H$mo Š`m| hVmoËgm{hV {H$`m OmZm Mm{hE, BgHo$ 
{bE Xmo H$maU Xr{OE & 5 

Write the difference between the molecules of soaps and 

detergents. Describe the cleansing action of soaps. Soaps do 

not form lather (foam) with hard water. Why ? Give two 

reasons as to why excessive use of detergents should be 

discouraged.   

20. ßb¡goÝQ>m H$s g§aMZm H$m dU©Z H$s{OE & J^©dVr _mZd _mXm _| BgHo$ _hÎd H$m 
CëboI H$s{OE & 5 

Describe the structure of placenta. State its importance in a 

pregnant human female.    

21. Om{V-CX²^dZ Š`m h¡ ? Om{V-CX²^dZ Ho$ {bE CÎmaXm`r hmo gH$Zo dmbo {H$Ýht Mma 
H$maH$m| H$s gyMr ~ZmBE & BZ Mmam| _| go H$m¡Z ñdnam{JV nmXnm| Ho$ Om{V-CX²^dZ 
_| `moJXmZ Zht Xo gH$Vm ? Š`m| ?  5 
What is speciation ? List any four factors that may be 

responsible for speciation. Which out of these four cannot 

contribute to speciation in self-pollinating plants ? Why ? 

22. (a) Jmobr` Xn©Um| Ho$ g§X^© _|, {ZåZ{b{IV nXm| H$s n[a^mfm Xr{OE :   
(i)  Y«wd  
(ii) dH«$Vm Ho$ÝÐ   

(iii) _w»` Aj  
(iv) \$moH$g Xÿar  

(b) 5 cm bå~mB© H$m H$moB© {~å~ 20 cm \$moH$g Xÿar Ho$ {H$gr AdVb Xn©U 
Ho$ gm_Zo 30 cm Xÿar na pñWV h¡ & ~ZZo dmbo à{V{~å~ H$s pñW{V Am¡a 
AmH$ma (gmBµO) kmV H$s{OE & 5 
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(a) In the context of spherical mirrors, define the following 

terms :  

(i) Pole  

(ii) Centre of curvature  

(iii) Principal axis  

(iv) Focal length  

(b) An object of 5 cm length is placed at a distance of 30 cm 

in front of a concave mirror of focal length 20 cm. Find 

the position and size of the image formed.   

23. (a) àH$me Ho$ AndV©Z Ho$ {Z`_ {b{IE & {H$gr _mÜ`_ Ho$ {Zanoj 
AndV©Zm§H$ H$mo àH$me H$s Mmb Ho$ nXm| _| ì`º$ H$s{OE &     

(b) H$m±M Am¡a Ob Ho$ {Zanoj AndV©Zm§H$ H«$_e: 
2

3  Am¡a 
3

4  h¢ & `{X H$m±M 

_| àH$me H$s Mmb 2  108 m/s h¡, Vmo (i) {Zdm©V, Am¡a (ii) Ob _| 
àH$me H$s Mmb kmV H$s{OE &  5 

(a) State the laws of refraction of light. Express the absolute 

refractive index of a medium in terms of the speed of 

light.   

(b) The absolute refractive indices of glass and water are 
2

3  

and 
3

4  respectively. If the speed of light in glass is  

2  108 m/s, find the speed of light (i) in vacuum, and  

(ii) in water.  

24. (a) _mZd ZoÌ Ho$ {ZåZ{b{IV ^mJm| Ho$ H$m`© {b{IE :   
(i)  H$m°{Z©`m (ñdÀN> _ÊS>b)   
(ii) nwVbr   
(iii) ZoÌ b|g   
(iv) ao{Q>Zm (ÑpîQ> nQ>b)  
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(b) {H$gr b‹S>Ho$ Ho$ Mí_| _| +2 m \$moH$g Xÿar Ho$ b|g Cn`moJ {H$E JE h¢o & 
`h b‹S>H$m {H$g àH$ma Ho$ ÑpîQ> Xmof go nr{‹S>V h¡ ? Bg Xmof Ho$ Xmo _w»` 
H$maUm| H$s gyMr ~ZmBE & Bg b‹S>Ho$ Ho$ Mí_| _| Cn`moJ {H$E JE b|gm| H$s 
j_Vm {ZYm©[aV H$s{OE &  5 

(a) Write the functions of the following parts of a human  

eye : 

 (i) Cornea 

 (ii) Pupil 

 (iii) Eye lens  

 (iv) Retina  

(b) A boy uses lenses of focal length +2 m in his spectacles. 

Name  the type of defect of vision he is suffering from and 

list two main causes of this defect. Also, determine the 

power of the lenses he is using in his spectacles.   

 

^mJ ~ 
SECTION B 

25. gm~wZ ~ZmZo Ho$ {bE Amn {ZåZ{b{IV _| go {H$gH$m Cn`moJ H$a|Jo ?  1 

(A) AaÊS>r H$m Vob Am¡a NaOH  

(B) AaÊS>r H$m Vob Am¡a Ca(OH)2  

(C) I{ZO Vob Am¡a NaOH  

(D) VmanrZ H$m Vob Am¡a KOH  

Which of the following is used to prepare soap ?  

(A) Castor oil and NaOH 

(B) Castor oil and  Ca(OH)2 

(C) Mineral oil and NaOH 

(D) Turpentine oil and KOH 
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26. gm~wZ ~ZmVo g_` Amn A{^{H«$`m {_lU _| gmo{S>`_ ŠbmoamBS> H$s Hw$N> _mÌm 
Š`m| {_bmVo h¢ ?  1 
(A) gm~wZ H$mo CXmgrZ ~ZmZo Ho$ {bE   

(B) gm~wZ H$s jmar` àH¥${V H$mo H$_ H$aZo Ho$ {bE  
(C) gm~wZ H$s JwUdÎmm _| gwYma Ho$ {bE  
(D) gm~wZ Ho$ nyU© AdjonU _| ghm`Vm Ho$ {bE  

While preparing soap, why do you add a small quantity of 

sodium chloride to the reaction mixture ? 

(A) To make the soap neutral 

(B) To reduce the alkaline nature of the soap  

(C) To improve the quality of the soap  

(D) To favour complete precipitation of the soap  

27. {ZåZ{b{IV _| go bdUm| Ho$ Cg g_yh H$mo Mw{ZE {OgHo$ {H$gr ^r gXñ` H$mo, 
`{X AmgwV Ob _| Kmobm OmE, Vmo dh Ob H$mo H$R>moa ~Zm gH$Vm h¡ :    1 

(A) CaSO4, K2SO4, Na2SO4  

(B) CaCl2, NaCl, MgCl2 

(C) CaCl2, MgCl2, CaSO4  

(D) NaCl, NaHCO3, CaSO4 

Select from the following a group of salts whose each member, 

if dissolved in distilled water, is capable of making the water 

hard :    

(A) CaSO4, K2SO4, Na2SO4  

(B) CaCl2, NaCl, MgCl2 

(C) CaCl2, MgCl2, CaSO4  

(D) NaCl, NaHCO3, CaSO4  
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28. {H$gr N>mÌ H$mo Hw$N> {Û~rOnÌr ~rO H$mo amV^a {^JmoH$a A§Hw$aU Ho$ {bE aIZm  
h¡ & {ZåZ{b{IV ~rOm|  Ho$ g_yh _| go Cgo {H$go MwZZm Mm{hE ?   1 
(A) _Q>a/_ŠH$m/Johÿ±   

(B) Johÿ±/amO_m/_y±J\$br 
(C) Johÿ±/amO_m/_ŠH$m  
(D) _Q>a/amO_m/_y±J\$br 

A student has to soak some dicot seeds overnight and then 

keep them for germination. Which one of the following groups 

of seeds should he select ?    

(A) Pea/Maize/Wheat  

(B) Wheat/Kidney beans/Ground-nut 

(C) Wheat/Kidney beans/Maize  

(D) Pea/Kidney beans/Ground-nut 

   

29. {d{^Þ Ordm| Ho$ AJ«nmXm| Am¡a n§Im| H$s H§$H$mb (g§aMZmAm|) na {dMma H$s{OE 
Am¡a {ZåZ{b{IV _| go g_OmV g§aMZmAm| H$m g_yh Mw{ZE :  1 
(A) H$~yVa Ho$ n§I Am¡a {VVbr Ho$ n§I   
(B) Jm` Ho$ AJ«nmX Am¡a {N>nH$br Ho$ AJ«nmX  
(C) njr Ho$ n§I Am¡a M_JmX‹S> Ho$ n§I   
(D) {VVbr Ho$ n§I Am¡a M_JmX‹S> Ho$ n§I   
Consider the skeletons of forelimbs and wings of different 

organisms and select the group of homologous structures from 

the following :  

(A) Wings of a pigeon and wings of a butterfly   

(B) Forelimbs of a cow and forelimbs of a lizard  

(C) Wings of a bird and wings of a bat  

(D) Wings of a butterfly and wings of a bat  
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30. {XE JE AdVb Xn©U H$s \$moH$g Xÿar H$m g{ÞH$Q> _mZ {ZYm©[aV H$aZo Ho$ {bE, 
`{X AmnZo _oµO na aIr ObVr hþB© _mo_~Îmr H$s Ádmbm H$mo \$moH${gV H$a {b`m h¡ 
Am¡a Amn \$moH$g Xÿar H$m Am¡a ~ohVa _mZ àmßV H$aZo Ho$ {bE CJVo hþE gy`© H$s 
{I‹S>H$s go àdoe H$aVr g_mÝVa {H$aUm| H$mo Cgr àm`mo{JH$ ì`dñWm _| \$moH${gV 
H$aZm MmhVo h¢, Vmo AmnH$mo gaH$mZm hmoJm  1 

(A) naXo H$mo gy`© H$s Amoa    

(B) Xn©U H$mo naXo H$s Amoa   

(C) Xn©U H$mo naXo go Xÿa 

(D) gmar àm`mo{JH$ ì`dñWm H$mo {I‹S>H$s H$s Amoa  
To determine the approximate value of focal length of the 

given concave mirror, if you have focussed the flame of a 

burning candle placed on the table and for a better value of 

focal length you want to focus the parallel rays from the rising 

sun which are entering through the window on the same 

experimental set-up, you will move the 

(A) screen towards the sun    

(B) mirror towards  the screen 

(C) mirror away from the screen  

(D) the whole experimental set-up towards the window  

31. `{X AmnZo {H$gr CÎmb b|g H$m Cn`moJ H$aHo$ {H$gr XÿañW {~å~ H$m {~ÝXþ 

AmH$ma (gmBµO) H$m CbQ>m à{V{~å~ g\o$X naXo na àmßV H$a {b`m h¡, Vmo Bg 

b|g H$s g{ÞH$Q> \$moH$g Xÿar kmV H$aZo Ho$ {bE AmnH$mo _mnZr Mm{hE    1 
(A) Ho$db b|g Am¡a naXo Ho$ ~rM H$s Xÿar     
(B) Ho$db b|g Am¡a {~å~ Ho$ ~rM H$s Xÿar   

(C) Ho$db {~å~ Am¡a naXo na BgHo$ à{V{~å~ Ho$ ~rM H$s Xÿar    
(D) b|g Am¡a {~å~ Ho$ ~rM H$s Xÿar Ho$ gmW {~å~ Am¡a CgHo$ à{V{~å~ Ho$ 

~rM H$s Xÿar ^r  
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If you have obtained a point-sized inverted image of a distant 

object on a white screen using a given convex lens, then to  

determine the approximate focal length of the lens, you should 

measure the distance between the   

(A) lens and the screen only  

(B) lens and the object only  

(C) object and its image on the screen only  

(D) lens and the object and also between the object and its 

image 

 

32. {H$gr N>mÌ Zo  i = 40 Ho$ {bE {H$gr H$m±M Ho$ ñb¡~ go JwµOaZo dmbr  
àH$me-{H$aU H$m nW Amao{IV H$a {b`m h¡ & `{X CgZo {d{Ynyd©H$ g^r 
Amdí`H$ gmdYm{Z`m| H$m nmbZ H$aVo hþE Bg à`moJ H$mo {H$`m h¡, Vmo CgHo$ Ûmam 
_mno JE  r Am¡a  e Ho$ _mZ bJ^J Bg àH$ma hmoZo Mm{hE  1 

(A)  r = 30;  e = 40      

(B)  r = 24;  e = 36   

(C)  r = 24;  e = 40    

(D)  r = 40;  e = 26 

 
A student has traced the path of a ray of light passing through 

a glass slab for  i = 40. If he has performed the experiment 

methodically observing all necessary precautions, then the 

measured values of  r and  e should be around    

(A)  r = 30;  e = 40      

(B)  r = 24;  e = 36   

(C)  r = 24;  e = 40    

(D)  r = 40;  e = 26 
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33. H$m±M Ho$ {àµÁ_ go JwµOaZo dmbr {H$gr àH$me {H$aU Ho$ AmnVZ H$moUm| ( i) Ho$ 
Mma {d{^Þ _mZm| Ho$ {bE nW Amao{IV H$aZo Ho$ níMmV² àË`oH$ {H$aU AmaoI H$m 
{díbofU H$aHo$ {ZåZ{b{IV {ZîH$f© {ZH$mbo JE : 1 
I. {àµÁ_ _| àdoe H$aZo na {H$aU AmYma H$s Amoa PwH$Vr h¡ &  
II. {àµÁ_ go {ZJ©V hmoVo g_` {H$aU {\$a AmYma H$s Amoa PwH$Vr h¡ &  

III. {ZJ©V {H$aU Amn{VV {H$aU H$s {Xem go {H$gr H$moU na PwH$Vr h¡ & 
ghr {ZîH$f© h¢  
(A) Ho$db I Am¡a II  

(B) Ho$db II Am¡a III 

(C) Ho$db I Am¡a III  
(D) I, II Am¡a III 

After tracing the path of a ray of light through a glass prism 

for four different values of  i, every ray diagram was analysed 

and the following conclusions were drawn :    

I. On entering the prism, the ray bends towards its base.   

II. While emerging from the prism the ray further bends 

towards its base.    

III. The emergent ray bends at a certain angle to the 

direction of the incident ray. 

The correct conclusions are      

(A) I and II only  

(B) II and III only 

(C) I and III only 

(D) I, II and III 

34. {H$gr naIZbr _| gmo{S>`_ ~mBH$m~m}ZoQ> H$m MyU© boH$a O~ Amn Cg_| VZw 
Eogr{Q>H$ Aåb H$s Hw$N> ~y±X| S>mbVo h¢, Vmo Š`m àojU H$aVo h¢ ? ~ZZo dmbo bdU 
H$m Zm_ Am¡a gyÌ {b{IE & 2 

What do you observe when you add a few drops of dilute acetic 

acid to a test-tube containing powdered sodium bicarbonate ? 

Write the name and formula of the salt formed.         
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35. AmnH$mo `rñQ> _| _wHw$bZ H$mo Xem©Zo dmbr ñWm`r ñbmBS> Xr JB© h¡ & gyú_Xeu H$mo 
\$moH${gV H$aZo Ho$ {d{^Þ MaUm| H$m ghr H«$_ {b{IE Vm{H$ ñbmBS> H$m ñnîQ> ê$n 
go àojU {H$`m Om gHo$ &  2 
You are given a permanent slide showing budding in yeast. 

Write the steps in correct sequence of focussing the microscope 

so as to observe the slide clearly.    

36. H$moB© N>mÌ _mo_~Îmr H$s Ádmbm H$mo {H$gr CÎmb b|g Ho$ _w»` \$moH$g go Xÿa H$s 
Amoa Yrao-Yrao gaH$mVm h¡ Am¡a b|g H$mo pñWa aIVo hþE ha ~ma Ádmbm Ho$ 
à{V{~å~ H$mo naXo na \$moH${gV H$aVm h¡ & 2 

(A) à{V{~å~ H$mo \$moH${gV H$aZo Ho$ {bE dh naXo H$mo {H$g Amoa gaH$mVm h¡ 
  b|g H$s Amoa AWdm b|g go Xÿa ?      

(B) à{V{~å~ Ho$ gmBµO H$m Š`m hmoVm h¡  Š`m `h ~‹T>Vm h¡ AWdm KQ>Vm  
h¡ ?    

(C) à{V{~å~ H$s Vrd«Vm H$m Š`m hmoVm h¡  Š`m `h ~‹T>Vr h¡ AWdm KQ>Vr  
h¡ ?  

A student gradually moves a candle flame away from the 

principal focus of a convex lens and keeping the lens fixed in 

its position, each time focuses the image on the screen.  

(A) In which direction  towards or away from the lens, does 

he move the screen to focus the image ?  

(B) What happens to the size of the image  does it increase 

or decrease ?  

(C)  What happens to the intensity of the image  does it 

increase or decrease ?  

 


